Village of Colfax Village Board Meeting Agenda Monday, July 22nd, 2019 @ 7 p.m. Village Hall 613 Main Street, Colfax, WI 54730

- 1. Call to Order
- 2. Pledge of Allegiance
- Roll Call
- 4. Public Comments
- 5. Communications from the Village President
- 6. Consent Agenda
 - a. Minutes
 - i. Regular Board Meeting Minutes July 8th, 2019
 - b. Training Request- none
 - c. Facility Rental none
 - d. Licenses
 - i. Chicken License Heather Pyka 504 High Street July 22, 2019 to June 30th, 2020
 - Temporary Class "B"/"Class B" Retailer's License Colfax Women's Club Annual Pig Roast at the Colfax Health and Rehabilitation – August 9th, 2019
 - iii. Temporary Class "B"/"Class B" Retailer's License Colfax Fire Fighters Fire Department Open House August 4th to August 5th, 2019
 - iv. Operator's Licenses- July 22, 2019 to June 30, 2020
 - 1. Jeremy Artist Synergy Cooperative
 - 2. Taliah Eiseth Synergy Cooperative
 - 3. Katherine Walters American Legion Post #33
 - 4. Kali Tuschl The Blind Tiger
- Consideration Items
 - a. Roosevelt Street Pay Request
 - b. Driveway Variance Request Anderson Bridges, LLC
- 8. Review/Approval Bills July 8th, 2019, to July 21st, 2019
- 9. Committee/Department Reports (no action)
 - a. Colfax Police Department- June Report

10. Adjourn

Any person who has a qualifying disability as defined by the American With Disabilities Act that requires the meeting or materials at the meeting to be in an accessible location or format must contact: Lynn M. Niggemann - Clerk-Treasurer, 613 Main Street, Colfax, WI (715) 962-3311 by 2:00 p.m. the day prior to the meeting so that any necessary arrangements can be made to accommodate each request.

It is possible that members of and possibly a quorum of members of the governmental bodies of the municipality may be in attendance at the above-stated meeting to gather information; no action will be taken by any governmental body at the above-stated meeting other than the governmental body specifically referred to above in this notice.

Village Board Meeting – July 8th, 2019

On July 8th, 2019, the Village Board meeting began at 7:00 p.m. at the Village Hall, 613 Main St., Colfax, WI 54730. Members present: Trustees Davis, Berge, Jenson, M. Burcham, K. Burcham and President Gunnufson. Excused: Trustee Halpin. Others Present: Logan Michels, Kathy Halpin, Public Works Director Bates, Administrator-Clerk-Treasurer Niggemann and LeAnn Ralph with the Messenger.

Call to Order
Pledge of Allegiance
Public Comments –none
Communications from the Village President- none

Consent Agenda

Regular Board Meeting Minutes – **June 24**th, **2019** - A motion was made by Trustee Davis and seconded by Trustee K. Burcham to approve the Regular Board meeting minutes of June 24th, 2019. Voting For: Trustees K. Burcham, M. Burcham, Jenson, Berge, Davis and Gunnufson. Voting Against: none. Motion carried.

Training Request – none. Facility Rentals – none.

Licenses

Transient Merchant License – July 8th, **2019 to September 30, 2019 – Darian Prince –** A motion was made by Trustee Davis and seconded by Trustee Jenson to approve the Transient Merchant License for Darian Prince through September 30, 2019. Voting For: Trustees Davis, Berge, Jenson, M. Burcham, K. Burcham and Gunnufson. Voting Against: none. Motion carried.

Consideration Items

Appointment to Planning Commission and CDBG Committee – Logan Michels sent in a letter of interest for the Planning Commission and the CDBG Committee. President Gunnufson appointed Michels to the two committees. A motion was made by President Gunnufson and seconded by Trustee M. Burcham to approve the appointment of Michels to the Planning Commission and the CDBG Committee. Voting For: Trustees Davis, Berge, Jenson, M. Burcham, K. Burcham and Gunnufson. Voting Against: none. Motion carried.

505 West Street – discussion/possible action – Niggemann informed the Board that the only way to get the actual property lines is to get a title search or survey completed on the parcel of land. There are fees associated with both processes. It was mentioned that this topic had been brought before the Board years ago and the Board had voted that the property owners needed to repair their own property and the Village did not have any responsibility. The County has not provided updated site plans or updated costs.

A motion was made by President Gunnufson and seconded by M. Burcham to not take any action unless the property owner is able to confirm 505 West Street's property lines. Voting For: Trustees K. Burcham, M. Burcham, Jenson, Berge, Davis and Gunnufson. Voting Against: none. Motion carried.

Emergency Operations Plan Revision review and possible adoption – The Public Safety Committee met to review the Emergency Operations Plan. President Gunnufson, Trustee Berge, Public Works Director

Bates, Rescue Squad Director Knutson, Police Chief Anderson, Fire Chief Logslett and Administrator-Clerk-Treasurer Niggemann reviewed the changes as well as went over each department's responsibilities. Gunnufson prefers to just answer any questions that the Board might have versus going page by page through the document. A brief summary was given indicating that some of the new material included Village only data and that will not be available to the public to assist with keeping Village staff safe with certain emergency procedures.

A motion was made by Trustee Davis and seconded by Trustee Jenson to adopt the 2019 revised Emergency Operations Plan as submitted. Voting For: Trustees Davis, Berge, Jenson, M. Burcham, K. Burcham and Gunnufson. Voting Against: none. Motion carried.

Roosevelt Street Update –Bates stated that that curb and gutter has been replaced, the asphalt had to be saw cut. The asphalt is expected to be completed in the next week or so depending on the weather.

Cedar Street Stormwater Drainage Evaluation – Bates addressed the concern that the street is higher after the overlay was complete. Bates explained that the street was very crushed out and also had some severe cracks and a lot of broken asphalt near the stop sign. Because of the condition of the road, a lot of the water was seeping through the road rather than running off the sides as a normal drainage for a street. With the overlay, the street was brought back up to the original street height; not the street height at the time of the repair. One of the indicators is the manhole cover height.

In the past the Village has researched several options to address the new drainage concerns brought to the Street Committee and the Boards after the street was resurfaced. Some of the scenarios include:

- A site drain for stormwater from Cedar Street through the parking lot of the Outhouse Bar to Highway 40 Property owners were not interested in giving the Village an easement.
- Easement to the alley then to Third Ave. or into the right of way. Both property owners agreed, however one of the property owners was requesting additional paperwork to be completed.
- Asphalt could get taken out and the street could get resurfaced again. Estimated to cost approximately \$22,000.
- Wait until Third Avenue stormwater project is planned. Estimated \$300,000 for the entire street project.
- French drains on the property. Estimated \$5,000.
- Do nothing.

Some of the other point brought up include, what did the property look like prior to the tree being cut down, would landscaping help minimize the drainage issue or the water seepage into the basement or the garage, would property owner be fine with French drain in the yard, etc.

A motion was made by President Gunnufson and seconded by Trustee Berge to table the Cedar Street discussion until we have photos from as early as we can get from the property owner, get the costs of the French drain, find past elevations from the street project from approximately 25 years ago and ask Shambeau from Ayres Associates how successful French drains are. Voting For: Trustee Davis, Berge, Jenson, Berge, K. Burcham and Gunnufson. Voting Against: none. Motion carried.

Land Lease Renewal 7/1/2020 to 7/1/2030 – Dunn County and the Village of Colfax – Solid Waste Collection System – This land lease is the property in which the dump is located. A motion was made by Trustee Davis and seconded by Trustee M. Burcham to approve the renewal of the land lease for 7/1/2020 to 7/1/2030 for the Solid Waste Collection site. Voting For: Trustees K. Burcham, M.

Burcham, Jenson, Berge, Davis and Gunnufson. Voting Against: none. Motion carried.

CDBG RLF Program funds – Move funds to the State or keep them Local? – A motion was made by Trustee Jenson and seconded by Trustee M. Burcham to keep the CDBG Housing funds local. Voting For: Trustees Davis, Berge, Jenson, M. Burcham, K. Burcham and Gunnufson. Voting Against: none. Motion carried.

Review/Approval – Bills –June 24th, 2019 to July 7th, 2019 – A motion was made by Trustee M. Burcham and seconded by Trustee Davis to approve the bills for June 24th, 2019 to July 7th, 2019. Voting For: Trustees K. Burcham, M. Burcham, Jenson, Berge, Davis and Gunnufson. Voting Against: none. Motion carried.

Adjourn – A motion was made by Trustee Davis and seconded by Berge to adjourn the meeting at 7:00 p.m. A voice vote was taken and members voting to adjourn the meeting.

Scott A. Gunnufson, Village President

Attest:

Lynn Niggemann

Administrator-Clerk-Treasurer

Village of Colfax	The state of the s	70		a	0	0	0	f	C	0	I	a	X
-------------------	--	----	--	---	---	---	---	---	---	---	---	---	---

Box 417 - Colfax, Wisconsin 54730 - Phone 715-962-3311

License Number

Fax 715-962-2221

July 1, 19 to June 30, 20 License Application for **Keeping Domesticated Chickens** \$10.00 (non-refundable application fee)

(please print) 1. Name of Applicant_ 3. Phone (05) 17111 229 110 934 00019 4. Parcel Number 5. Number of female chickens (maximum 10) 6. Application (circle one) Renewal New In submitting this application, I hereby agree to comply with the regulations imposed by the Village of Colfax Code of Ordinances. I understand the information requested on this form will be used by the Village of Colfax in the issuance of a license or processing of a renewal application. I understand the information supplied on this form will become public information when received by the Village of Colfax. I have no intention or agreement to transfer the license to another person or to allow any other entity to operate under the authority of the license. I hereby affirm that the foregoing statements are true and correct to the best of my knowledge and that I agree to comply with all the provisions of the Ordinance under which this license is granted. Date Application Received Date Board Reviewed Application Approved / Denied

APPLICATION FOR TEMPORARY CLASS "B"/"CLASS B" RETAILER'S LICENSE

FEE \$	10,00	———	iue. G	maci ine munici _i	раг стетк іг уоц	<i>ı have question</i> s. Applica	tion Date:	7.3.19
☐ Town	፟ ∑ Village	☐ City	of	CoHax		County of _	Dunn	
. /	organization ap orarv Class "B"				nes at nicnics	or similar gathering	e under e 125 2	G(G) Wis State
A Tempo	orary "Class B"	license to sel	l wine a	at picnics or similar	ar datherings i	under s. 125.51(10),	\Mie Stat	o(o), vvis, stats.
								n .
to comply w	ith all law, reso if the license is	lution, ordina	nces a	nd regulations (s	tate, federal d	or local) affecting th	g <u>8 4 4</u> e sale of ferme	<u>7ρm</u> and agrees nted malt beverages
1. ORGANI	ZATION (check	appropriate box)	₩ Во	na fide Club 🔲 0	hurch lo	dge/Society 🔲 Vete	ran's Organization	n
	e Colfay		2000		w	agorecoloty vete	rairs Organization	I all Association
	(Street)	Shirley	R		27714	St. RD Ui Town [V) Villag		0811E 1W, X
	-	10 93				•		
	poration, give o	-		-				
, ,	ident Mono			710	رصر جمد عمدا	dia a		
	President Po			E900	Universi	00 0		
	etary Joo			(, of tax	$\frac{\mathcal{C}(T)}{2}$	EID IV	·	-
	surer Shice		rde	N77		2D 40		
				n in charge of affa		Gengler	1 police R	Sweham Mobel
	Park		Cor		5478		Ceana C	SCOCY (SIM PORCE)
. LOCATIO	N OF PREMIS	ES WHERE E	REER /	AND/OR WINE W				
	t number \\				ILL DE SULL	<i>J</i> .		
	5 pag				Q(o ^c ≥Block v	na -within	- 176 CII	or within se
	emises occupy				.co. 2100K	-00c(y(i)	1 102 30	24 Willing So
	of building, des			****	this application	on, which floor or flo	ors, or room or	rooms, license is to
. NAME OF				T. 0				
(a) List na	ime of the even	· Houn	$\frac{\alpha}{\alpha}$	PIG R	003t	1/00		
(b) Dates	or event 1	rd Mr.		301	9	480b -	16w	
				DECLA	RATION			
ne Officer(s) o true and corr	of the organizati rect to the best	on, individual of their know	ly and t ledge a	ogether, declare i and belief.		s of law that the info		
					<u>Core</u>	CAY WM	(Alan) (lleco
ficer <u>M</u>	Mar [gnature/date)	<u> </u>		Officer	Monce (S	Gignature/date)	1/3/19
ficer	(SI	gnature/date)				(5		
te Filed with	Clerk 7.3	3.2019			Date Report	ted to Council or Bo	ard <u>7-22</u>	-19
te Granted by	y Council				License No.			
315 (R. 4-09)								Department of Payonia

Wisconsin Department of Revenue

APPLICATION FOR TEMPORARY CLASS "B"/"CLASS B" RETAILER'S LICENSE

See Additional Information on reverse side. Contact the municipal	al clerk if you have questions.
FEE \$ /0.00	Application Date: 7-9-19
☐ Town X Village ☐ City of	County of Duna
The named organization applies for: (check appropriate box(es).)	
	es at picnics or similar gatherings under s. 125.26(6), Wis, Stats.
A Temporary "Class B" license to sell wine at picnics or similar	gatherings under s. 125.51(10). Wis. Stat.
at the premises described below during a special event beginning	
to comply with all law, resolution, ordinances and regulations (stand/or wine if the license is granted.	ate, federal or local) affecting the sale of fermented malt beverage
1. ORGANIZATION (check appropriate box) Bona fide Club Ch	nurch
(a) Name (alfet Fighte File Figh	1+-e/5
(a) Name Colfet Fight File Fight (b) Address 407 Cty M Colf	ax. W1 54730
	☐ Town ☑ Village ☐ City
(c) Date organized	
(d) If corporation, give date of incorporation	
(e) Names and addresses of all officers: President Don Logslett	
Vice President Dean Logsleff	
Socretary Salaway Plante	,
Secretary Solomen Plank Treasurer Solomen Plank	
(f) Name and address of manager or person in charge of affa ES646810+6Av= Colfe+	11. 15 64230
2. LOCATION OF PREMISES WHERE BEER AND/OR WINE WI	
(a) Street number 407 C+7 M	LL BE SOLD:
(b) Lot /	Block 3883 CSM
(c) Do premises occupy all or part of building?	Plock 3009 C 3161
	this application, which floor or floors, or room or rooms, license is to
3. NAME OF EVENT	
	1. 11.1.1.1.1.1
(b) Dates of event QUAUST 4+ h	house
(b) Baloo of overthe	
DECLA	RATION
The Officer(s) of the organization, individually and together, declare u	under penalties of law that the information provided in this application
is true and correct to the best of their knowledge and belief.	
	(Name of Organization)
an foodlest	Officer Our September (Signature/date)
Officer John Joyn (Signature/date)	Officer (Signature/date)
Officer Dem Lylett (Signature/date)	Officer Dean Logilets (Signature/date)
Date Filed with Clerk	Date Reported to Council or Board 7-22-19
Date Granted by Council	License No.
AT-315 (R. 4-09)	Wisconsin Department of Revenue

Wisconsin Department of Revenue

PO Box 417 - Colfax, Wisconsin 54730 - Phone 715-962-3311

Application for License to Serve Fermented Malt Beverages and Intoxicating Liquors
Provisional License New License Renewal License Fee: \$10.00 each application Receipt:
TO THE BOARD OF THE VILLAGE OF COLFAX, WISCONSIN:
I, hereby apply for a license to serve, from date hereof to JUNE 30, 20, inclusive (unless sooner revoked), Fermented Malt Beverages and Intoxicating Liquors, subject to the limitations imposed by Section 125.32(2) and 125.68(2) of the Wisconsin Statutes and all acts amendatory thereof and supplementary thereto, and hereby agree to comply with all laws resolutions, ordinances and regulations, Federal, State or Local, affecting the sale of such beverages and liquors if a license be granted to me.
Answer the following questions fully and completely: (PLEASE PRINT)
NAME Jeremy To Actist FIRST NAME MIDDLE NAME LAST NAME
Telephone Number 715-704-1058 Email Address Jereny art 2120 gmail.com
Current Address 501 east river street, Colfax 54730 (Street) (City) (Zip Code) (yrs. at address)
Previous Address E9487 (M Rd N Colfax w, 54730 (Street) (City) (Zip Code)
Date of Birth Age
Place of Employment Synergy Coop
POLICE DEPT APPLICABLE OFFENSE CRITERIA A records check will be conducted for violations of any law or ordinances during the past 10 years that substantially relate to the license applied for. Those convictions are considered by the Village of Colfax in determining whether a license will be granted. You will be notified by the Village of Colfax Police Department if your application is recommended for denial to the Village Board. Recommendation Approve Deny Deny
(Chief of Police of designated staff Signature) (Date)
STATE OF WISCONSIN/ DUNN COUNTY
The above named applicant, being first duly sworn on oath says that he/she is the person who made and signed the foregoing application for an operator's license: that all the statements made by applicant are true.
X Governs Outest Signature of Applicant RIEMENTALIA
Subscribed and sworn before me this
Date Received: 7-1-19 Date to the Board: 1-22-19 Approved or Denied

SELER/SERVER CERTIFICATION MSCONSIN

Trainee Name: Jeremy Artist

Date of Completion: 07/01/2019

School Name: 360training.com, Inc.

Certification #: WI-100806

 COMPLIES WITH WISCONSIN STATUTES 125.04, 125.17,134.66



Corporate Headquarters 6801 N Capital of Texas Hwy, Suite 150 Austin, TX 78731 P: 877.881.2235

Date Received: 7-1-19

Application for License to Serve Fermented Malt Beverages and Intoxicating Liquors Renewal License Fee: \$10.00 each application Provisional License **New License** Receipt: pd TO THE BOARD OF THE VILLAGE OF COLFAX, WISCONSIN: I, hereby apply for a license to serve, from date hereof to JUNE 30, 2020, inclusive (unless sooner revoked), Fermented Malt Beverages and Intoxicating Liquors, subject to the limitations imposed by Section 125.32(2) and 125.68(2) of the Wisconsin Statutes and all acts amendatory thereof and supplementary thereto, and hereby agree to comply with all laws resolutions, ordinances and regulations. Federal, State or Local, affecting the sale of such beverages and liquors if a license be granted to me. Answer the following questions fully and completely: (PLEASE PRINT) NAME Email Address CIS Cth@ Colfax, K12, Wi. US Telephone Number (715) 577 - 11058 Current Address Previous Address Date of Birth Cooperative - Colfax Place of Employment SWAN POLICE DEPT APPLICABLE OFFENSE CRITERIA A records check will be conducted for violations of any law or ordinances during the past 10 years that substantially relate to the license applied for. Those convictions are considered by the Village of Colfax in determining whether a license will be granted. You will be notified by the Village of Colfax Police Department if your application is recommended for denial to the Village Board. Deny Recommendation STATE OF WISCONSIN/ DUNN COUNTY The above named applicant, being first duly sworn on oath says that he/she is the person who made and signed the foregoing application for an operator's license: that all the statements made by applicant are true. (Signature of Notary Public)

Date to the Board: 7-22-14 Approved or Denied

PO Box 417 - Colfax, Wisconsin 54730 - Phone 715-962-3311

Application for License to Serve Fermented Malt Beverages and Intoxicating Liquors X Renewal License Fee: \$10.00 each application New License Provisional License Receipt: pol TO THE BOARD OF THE VILLAGE OF COLFAX, WISCONSIN: I, hereby apply for a license to serve, from date hereof to JUNE 30, $20 \underline{)9}$, inclusive (unless sooner revoked), Fermented Malt Beverages and Intoxicating Liquors, subject to the limitations imposed by Section 125.32(2) and 125.68(2) of the Wisconsin Statutes and all acts amendatory thereof and supplementary thereto, and hereby agree to comply with all laws resolutions, ordinances and regulations, Federal, State or Local, affecting the sale of such beverages and liquors if a license be granted to me. Answer the following questions fully and completely: (PLEASE PRINT) NAME Katherine Ann Walters
FIRST NAME MIDDLE NAME LAST NAME Telephone Number 320) 761-9699 cell Email Address Kathy a faber @ gmail, com

Current Address N9544-640th 5t, Colfax 54730 534

(Street) (City) (Zip Code) (yrs. at address) Previous Address 17177 State Hwy 24 NW, Clear water, MN 55320 (City) (Zip Code)

Date of Birth _____ Age 67 Place of Employment Retired - Legion POLICE DEPT APPLICABLE OFFENSE CRITERIA A records check will be conducted for violations of any law or ordinances during the past 10 years that substantially relate to the license applied for. Those convictions are considered by the Village of Colfax in determining whether a license will be granted. You will be notified by the Village of Colfax Police Department if your application is recommended for denial to the Village Board. Recommendation Approve ____ Deny STATE OF WISCONSIN/ DUNN COUNTY The above named applicant, being first duly sworn on oath says that he/she is the person who made and signed the foregoing application for an operator's license: that all the statements made by applicant are true. Subscribed and sworn before me this ______ day of _____, 20 19___ (Signature of Notary Public)

Date Received: 6-27-19 Date to the Board: 1-12-19 Approved or Denied

PO Box 417 - Colfax, Wisconsin 54730 - Phone 715-962-3311

PO Box 417 - Colfax, Wisconsin 54730 -Phone 715-962-3311 Application for License to Serve Fermented Malt Beverages and Intoxicating Liquors New License Renewal License Fee: \$10.00 each application Provisional License Receipt: Pd TO THE BOARD OF THE VILLAGE OF COLFAX, WISCONSIN: I, hereby apply for a license to serve, from date hereof to JUNE 30, 20 <u>20</u>, inclusive (unless sooner revoked), Fermented Malt Beverages and Intoxicating Liquors, subject to the limitations imposed by Section 125.32(2) and 125.68(2) of the Wisconsin Statutes and all acts amendatory thereof and supplementary thereto, and hereby agree to comply with all laws resolutions, ordinances and regulations, Federal, State or Local, affecting the sale of such beverages and liquors if a license be granted to me. Answer the following questions fully and completely: (PLEASE PRINT) NAME Telephone Number 715-529-0138 Email Address Kan tuschl@gmail.com Current Address 1314 Stout street Menomone 54751 1 yr
(Street) (City) (Zip Code) (yrs. at address) Previous Address 4933 coventry count #3 Eau Clair WI 54701
(Street) (City) (Zip Code)

Age 2 Place of Employment The Blind Tiger POLICE DEPT APPLICABLE OFFENSE CRITERIA A records check will be conducted for violations of any law or ordinances during the past 10 years that substantially relate to the license applied for. Those convictions are considered by the Village of Colfax in determining whether a license will be granted. You will be notified by the Village of Colfax Police Department if your application is recommended for denial to the Village Board. Deny Recommendation STATE OF WISCONSIN/ DUNN COUNTY The above named applicant, being first duly sworn on oath says that he/she is the person who made and signed the foregoing application for an operator's license: that all the statements made by applicant are true. (Signature of Notary Public) (Cor

Date Received: 7-5-19 Date to the Board: 7-22-19 Approved or Denied

SELLER / SERVER CERTIFICATION **MISCONSIN**

Trainee Name: Kali Tuschl

Date of Completion: 07/05/2019

School Name: 360training.com, Inc.

Certification #: WI-101000

 COMPLIES WITH WISCONSIN STATUTES 125.04, 125.17,134.66



Corporate Headquarters 6801 N Capital of Texas Hwy, Suite 150 Austin, TX 78731 P: 877.881.2235



Make Payment to:

UNIT PRICE APPLICATION FOR PAYMENT

_	Collax 2019 S	treet and Utility	Project No:				
Owner:	Village of Colf	ax	Contract Fo	r:	Reconstruct	ion	
Contractor:	Haas Sons Inc	;	Contract Da	te:	April 10, 20	19	
Application N	o: 2		Period Begi	nning:	May 22, 201	9	
Application D	ate: June 28, 2019		Period Endi	ng:	June 28, 20	19	
Change (Order Summary	Dolla	ers			Time	
	e Orders Approved Months By Owner	Additions	Deductions	Add/De	educt (Days)	Origina	l Completion Date:
Change O	rders This Period			o kangalaga katala kata		7	
Number	Approved (Date)						
1		\$54.50					
						New (Completion Date:
let Change		\$54.50			0		
		***************************************					\$252,781.07
							\$54.50
_	-	uantities					\$0.00
ontract Price	(Sum) to Date		••••••	•••••	•••••		\$252,835.57
Less 5% Retainage to 50% Complete \$6,320.8 Amount Due Less Retainage \$182,117.6					\$188,438.50 \$6,320.89 \$182,117.61		
ess Frevious							
mount Due T							\$110,238.95
							\$71,878.66
ontractol the undersigned ontract referred for Application this Application xcept such as	This Application R'S CERTIFICATION Contractor certifies the to above have been a serific for Payment; (2) title on for Payment will pass are covered by a least serific to the contraction of the covered by a least serific to the contraction of the covered by a least serific to the covered by a least series of the covered by a lea		gress payments recei stractor's legitimate ob and equipment incon payment free and co owner indemnifying (ved from oligations oorated in lear of al	Owner on ac incurred in co n said Work o Il liens, securi gainst any s	count of Wonnection were otherwise ty interest, uch lien, s	\$71,878.66 /ork done under the ith Work covered by listed in or covered and encumbrances security interest, or
contractol he undersigned ontract referred rior Application y this Application except such as	This Application R'S CERTIFICATION It Contractor certifies the certifies	nat (1) all previous prog pplied to discharge Con to all Work, materials, ss to Owner at time of Bond acceptable to O	gress payments recei htractor's legitimate ob and equipment incorn payment free and c Dwner indemnifying (Payment is in accord	ved from oligations porated in lear of all Owner a ance with	Owner on ad incurred in consider the contract of the contract of the contract of the contract of the contract	count of Wonnection were otherwise ty interest, uch lien, s	\$71,878.66 Fork done under the ith Work covered by listed in or covered and encumbrances security interest, or and not defective
he undersigned ontract referred for Application this Application xcept such as ncumbrance); a	This Application R'S CERTIFICATION Contractor certifies the to above have been a serific for Payment; (2) title on for Payment will pass are covered by a least serific to the contraction of the covered by a least serific to the contraction of the covered by a least serific to the covered by a least series of the covered by a lea	i: nat (1) all previous prog pplied to discharge Con to all Work, materials, ss to Owner at time of Bond acceptable to O d by this Application for	gress payments receintractor's legitimate obtained equipment incomplete and columnitying (Payment is in according Subscribed a	ved from oligations orated in lear of al Owner a ance with nd swor	Owner on ac incurred in con a said Work of Il liens, securing gainst any se and the Contract on to before r	count of Wonnection were otherwise ty interest, uch lien, so Documents ne this	\$71,878.66 Fork done under the ith Work covered by listed in or covered and encumbrances security interest, or and not defective
he undersigned ontract referred rior Application this Application to the company of the Application of the A	This Application R'S CERTIFICATION Contractor certifies the contractor certifies the contractor certifies the contractor payment; (2) title contractor contractor	i: nat (1) all previous prog pplied to discharge Con to all Work, materials, ss to Owner at time of Bond acceptable to O d by this Application for	gress payments recei htractor's legitimate ob and equipment incorn payment free and c Dwner indemnifying (Payment is in accord	ved from oligations orated in lear of al Owner a ance with nd swor July	Owner on ac incurred in con said Work of liens, securing gainst any so the Contract on to before recorded.	count of Wonnection were otherwise ty interest, uch lien, so Documents	\$71,878.66 Fork done under the ith Work covered by listed in or covered and encumbrances security interest, or and not defective
CONTRACTOR the undersigned contract referred rior Application y this Application except such as	Contractor Certifies the discontractor contractor con	at (1) all previous progression of the provious prov	gress payments recei itractor's legitimate ob and equipment incon i payment free and c owner indemnifying (Payment is in accord Subscribed a day of	ved from oligations orated in lear of al Owner a ance with nd swor July Bra on expir	Owner on ac incurred in con said Work of said Work of sainst any son the Contract on to before recorded to the contract of the	count of Wonnection were otherwise ty interest, uch lien, so Documents ne this	\$71,878.66 /ork done under the ith Work covered by listed in or covered and encumbrances security interest, or and not defective / 20 / 9 Notary Public W 23
he undersigned ontract referred for Application by this Application except such as a neumbrance); a	This Application R'S CERTIFICATION It Contractor certifies the street of the contractor certifies the street on for Payment; (2) title on for Payment will pass are covered by a least of the covered of the co	at (1) all previous progression of the provious prov	gress payments receintractor's legitimate obtained and equipment incomplete and colored indemnifying of Payment is in accord. Subscribed a day of	ved from oligations orated in lear of al Owner a ance with nd swor July Bra on expir	Owner on ac incurred in con said Work of I liens, securing gainst any son the Contract on to before recording the Contract of	count of Wennection were otherwise ty interest, uch lien, so Documents this	\$71,878.66 /ork done under the ith Work covered by listed in or covered and encumbrances security interest, or and not defective / 20 / 9 Notary Public W 23

CONTINUATION SHEET (FOR UNIT PRICE APPLICATION FOR PAYMENT)

	Project	Colfav 2	Colfay 2019 Street and Hillity	and Hillity							
	Project No.	4 YB	מומנו	aira Omity			Applic		7.	c	
	Contract For: Contract Date:	Reconstructio April 10, 2019	ruction 2019				Applica Period E Perio	Application Date: Period Beginning: Period Ending:	June 28, 2019 May 22, 2019 June 28, 2019	თ <u>ო</u> თ	
Item	Description of Work	Unit	Approx.	Unit	Total	Com	Completed Quantity	ì	Completed	Stored	Completed
O			Quantity	Price	Price	Previous	This	Total	Amount	Material*	& Stored
(8)		(ĺ	į		Period	Period	to Date			To Date
3	(g)	<u> </u>	<u>(a)</u>	(E)	(F)	ල	(H)	((?)	(K)	(L) = (J + K)
	Base Bid										
	Abandon Existing Water Main	EA	2	2,000.00	4,000.00			0	00 0		000
7	Salvage and Reinstall Hydrant	EA		1,350.00	1,350.00	_		1	1.350.00		1.350.00
	Adjust Existing Valve Box	EA	1	450.00	450.00			0	00.00	***************************************	00 0
4	6" Water Main PVC	5	7	31.50	220.50	7		7	220.50		220.50
Ω (8" Water Main PVC	4	643	44.25	28,452.75	620		620	27,435.00		27,435.00
1 0	o valve and Box	EA	-	1,300.00	1,300.00	_		_	1,300.00		1,300.00
\	Water Main Offset	EA	~-	2,300.00	2,300.00	τ-		_	2,300.00		2,300.00
0	Connect to Existing Water Main	EA	က	725.00	2,175.00	4		4	2,900.00		2,900.00
n (Ť	4	342	36.50	12,483.00	330		330	12,045.00		12,045.00
2	T	A	11	420.00	4,620.00	11		1	4,620.00		4,620.00
11		ST	-	3,000.00	3,000.00	-		_	3,000.00		3,000.00
71.	十	SF	154	2.50	385.00	128		128	320.00		320.00
2	\neg	4	561	39.20	21,991.20	550		550	21,560.00		21,560.00
4 7	寸	EA	2	325.00	650.00	2		2	650.00		650.00
2	Ť	ΛF	15.8	270.75	4,277.85	15		15	4,061.25		4,061.25
19		Æ	2	650.00	1,300.00			0	00.00		00.00
2 5		EA	11	200.00	2,200.00	11		11	2,200.00		2,200.00
0 9	•	4	333	33.80	11,255.40	330		330	11,154.00		11,154.00
2 8	-	EA	11	211.00	2,321.00			0	00.00		00.0
202	Ť	4		2.00	1,122.00			0	00.0		00.00
7	T	5		33.75	3,881.25	115		115	3,881.25		3,881.25
22	寸	4	32	34.50	1,104.00	30		30	1,035.00		1,035.00
23	1	4	71	38.50	2,733.50	70		70	2,695.00		2,695.00
24	Ť	4	1140	6.75	7,695.00		1140	1140			7,695.00
22	÷	EA	1	100.00	100.00	_					100.00
27	一	VF	3.6	445.50	1,603.80	င		3	1,336.50		1,336.50
77	Inlet 2x3'	VF	6.4	333.50	2,134.40	9		9	2,001.00		2,001.00

* If applicable, attach receipts or other proof of ownership or title to stored products

CONTINUATION SHEET (FOR UNIT PRICE APPLICATION FOR PAYMENT)

Frice Previous Total Amount Material* & State Configuration Conf	Item	Description of Work	Unit	Approx.	Unit	Total	Com	iero Datalo	ntity.	1000 amo	Ctores	
Casting Type J	ģ		-	Quantity	Price	Price	Previous	This	Total	Completed	Sioled	Completed
Table Casting Type A				<u></u>	3	3	SDOIAS L	<u>.</u>	lotai	Amount	Materiai*	& Stored
Casting Type J	€	(B)		((i)	Ú	Period (2)	Period	to Date			To Date
Casting Type J FA 2 or 35.00 877.50 or 35.00 2 or 35.00 675.00 Casting Type J EA 2 or 36.00 175.00 7 600.00 175.00 7 670.00	28			I	(-)	(5)	- 1	(E)	3	(P)	(X)	(L) = (J + K)
Casting Type H EA 1 475.00 475.00 6 0.00 Casting Type H EA 1 475.00 1,200.00 1 0 0.00 Casting Type H EA 1 550.00 1,500.00 1,000.00 9 450.00 1 Casting Type B6 EA 1 550.00 450.00 9 450.00 0 <th< td=""><td>5 6</td><td>Cooting</td><td>- L</td><td></td><td>337.50</td><td>877.50</td><td>2</td><td></td><td>2</td><td>675.00</td><td></td><td>675.00</td></th<>	5 6	Cooting	- L		337.50	877.50	2		2	675.00		675.00
Cashing Iype H EA 2 600.00 1,200.00 1 60.00 1 60.00 1 60.00 1 600.00 1 600.00 1 600.00 1 650.00 1 650.00 1 650.00 1 650.00 1 650.00 1 650.00 1 650.00 1 1 650.00 1 650.00 1 650.00 1 650.00 1 650.00 1 650.00 1 650.00 1 650.00 1 650.00 1 650.00 1 650.00 1 650.00 1 7 7 7 8 7 1 1 2 2 2 2 2 2 2 2 2 2 2 2 3 2 3 3 3 3 3 3 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4	87 8	i	E	=	475.00	475.00			0	00.00		000
Casting Type B6 EA 1 550.00 550.00 1 550.00 1 550.00 1 550.00 1 550.00 1 550.00 1 550.00 1 550.00 1 550.00 1 550.00 1 550.00 1 550.00 1 550.00 1 550.00 1 500.00 1 500.00 1 500.00 1 500.00 1 500.00 2 3 3 3 4	3	Casting Type H	E	2	00.009	1,200.00	The state of the s		C	000		00.0
Trackout Control Factorial Protection EA 9 50.00 450.00 9 9 450.00 1 1 1 1 1 1 1 1 1	3	Casting Type B6	EA	-	550.00	550.00	_			550.00		00.0
Trackout Control EA 2 500.00 1,000.00 1,000.00 0 0 0 0 0 0 0 0	32	Inlet Protection	EA	6	50.00	450.00	- 0		- 0	750.00		250.00
Remove Existing Asphalt SY 1908 1.50 2,862,00 1908 2,862,00 2 Remove Existing Asphalt SY 97 485,00 97 97 486,00 4 Remove Existing Concrete LP 270 465,00 475,00 485,00 97 486,00 4 Pavement Saw Cutting LF 271 2,50 677,50 120 200 200 500,00 20 Roadway Earthwork CY 1910 12,00 200 200 200 500,00 20 Granulas Subbase Course CY 790 14,00 1,6450,00 70 3,600,00 10 Base Course CY 790 14,00 1,6450,00 550 550 10 10 11/2* Asphaltic Binder Paving SY 1975 8.15 16,086,25 150 10 0 0 0 11/2* Asphaltic Surface Paving SY 1975 8.15 15,482,20 150 10 10	ဗ္ဗ	-	EA	2	500.00	1.000.00				120.00		450.00
Nemove Existing Concrete	8	-	SΥ	1908	1.50	2,862.00	1908		1908	2 862 00		2 862 00
Cleaning and Grubbing ID 120 40.00 4,800.00 120 4,800.00 4,800.00 Pavement Saw Cutting LF 271 2.50 677.50 200 200 200 200 200 Roadway Earthwork CY 1910 1.2,90 0 2,50 0 <td>32</td> <td>-</td> <td>λS</td> <td>26</td> <td>5.00</td> <td>485.00</td> <td>97</td> <td></td> <td>97</td> <td>485.00</td> <td></td> <td>485.00</td>	32	-	λS	26	5.00	485.00	97		97	485.00		485.00
Pavement Saw Cutting	2		Ω	120	40.00	4,800.00	120	***************************************	120	4.800.00		4 800 00
Contract Driveway Paving Contract Driveway P	3		느	271	2.50	677.50	-	200	200	500.00		500 00
Geotextue Stabilization Fabric SY 2350 1.50 3,525.00 2350 2355.00 3,525.00 4,525.00 1,225.00 2,225.00 1,225.00 1,225.00 1,225.00 2,225.00 2,225.00 2,225.00 2,225.00 2,225.00 2,225.00 2,225.00 2,225.00 2,225.00 2,225.00 2,225.00	ည္က လ		ζ	1910	12.00	22,920.00		1910	1910	22.920.00		22 920 00
Granular Subbase Course CY 790 14.00 1,060.00 700 700 9,800.00 9,800.00 Base Course CY 550 19.00 10,450.00 550 10,450.00 10,450.00 12. Asphaltic Concrete Driveway Paving SY 1975 8.15 1,652.22 1500 10,00 12,225.00 12,210 11/2* Asphaltic Surface Paving SY 1975 8.15 16,096.25 1500 12,225.00	SS 9		SY	2350	1.50	3,525.00		2350	2350	3.525.00		3 525 00
Base Course CY 550 19.00 10,450.00 550 550 10,450.00 10 2"Asphaltic Concrete Driveway Paving SY 1975 8.15 1,052.22 150 150 10,450.00 12 1/12" Asphaltic Surder Paving SY 1975 8.15 16,096.25 150 10.00 12 30" Concrete Curb and Gutter LF 1136 13,542.20 0 0.00 4,600.00	€ ;		ζ	790	14.00	11,060.00		700	700	9,800.00		9 800 00
Z. Asphaltic Concrete Driveway Pavi SY 19 55.38 1,052.22 0 0.00 1.2 1 1/12" Asphaltic Binder Paving SY 1975 8.15 16,096.25 1500 1500 12,225.00 12 1 1/12 Asphaltic Surface Paving SY 1975 8.34 16,471.50 0 <td>4</td> <td>Base Course</td> <td>ζ</td> <td>220</td> <td>19.00</td> <td>10,450.00</td> <td></td> <td>550</td> <td>550</td> <td>10,450.00</td> <td></td> <td>10 450 00</td>	4	Base Course	ζ	220	19.00	10,450.00		550	550	10,450.00		10 450 00
1.1/2" Asphaltic Binder Paving SY 1975 8.15 16,096.25 1500 1500 12,255.00 12,245.20 13,2548.75 800 800 4,600.00 4,600.00 4,600.00 4,600.00 4,600.00 4,600.00 4,600.00 12,600.00	42	$\overline{}$	λS	19	55.38	1,052.22			0	0.00		0.00
1/1/2 Asphaltic Surface Paving SY 1975 8.34 16,471.50 0 0.00 30" Concrete Curb and Gutter LF 1138 11.90 13,542.20 0 0.00 4,600.0	43	Ť	λS	1975	8.15	16,096.25		1500	1500	12.22		5
3.0° Concrete Curb and Gutter LF 1138 11.90 13,542.20 0 0.00 4,600.00 <	44		λS	1975	8.34	16,471.50			0	00.0		00.0
Concrete Driveway Paving SF 965 5.748.75 8,548.75 800 800 4,600.00 6,600.00 6,600.00 4,600.00 4,600.00 6,600.00 6,600.00 4,600.00 4,600.00 7,25.00 7,25.00 7,25.00 7,25.00 7,25.00 7,25.00 7,25.00 1,600.0	5	1	5	1138	11.90	13,542.20			0	00.00		0.00
CHANGE ORDERS EA 1 12,950.00	\$ t	T	SF	965	5.75	5,548.75		800	800	4,600.00		4 600 00
CHANGE ORDERS LS 1 12,950.00 12,950.00 12,950.00 0	47	4" Concrete Sidewalk	SF	130	5.25	682.50		130	130	682.50		682.50
ERS EA 1 -2,870.50 -2,870.50 1 -2,870.50 -2,870.50 -2,870.50 -2,870.50 -2,870.50 -2,870.50 -2,870.50 -2,870.50 -2,870.50 -2,870.50 -2,870.50 -2,870.50 -2,870.50 -2,870.50 -2,870.50 -2,870.50 -2,870.50 -1,600.00 -1,600.00 -1,600.00 -2,870.50	48	I un Replacement	ST	-	12,950.00	12,950.00			0	00.00		00.0
e EA 1 -2,870.50 -2,870.50 1 -2,870.50 -2,870.50 Main EA 1 1,600.00 1 1 1,600.00 1 Subtotal or Total 252,835.57 252,835.57 1 188,438.50 0.00 188,		CHANGE ORDERS										The state of the s
Main EA 1 7,57,000 7,57,000 1 7,500 1 1,600,00 1 1,600,00 1 1,600,00 1 1,600,00 1 1,600,00 1 1,600,00 1 1,600,00 1 1,600,00 1 1,600,00 1 1,600,00 1 1,600,00 1 1,600,00 1 1 1,600,00 1 1 1,600,00 1 1 1,600,00 1		Credit- Hydrant package	ΕA	7	-2 870 50	2 870 50	7		7	0.000		0100
Main EA 1 725.00 725.00 725.00 1 725.00 725.00 1 725.00 1 725.00 1 725.00 1 1 725.00 188,438.50 1 1 725.00 1 1 725.00 1 1 725.00 1 1 725.00 1		8" Gate Vlave and Box	FA	-	1 600 00	1,670.00			- -	4,000,00		7,870.50
Main EA 1 725.00 725.00 1 725.00 1 725.00 1 725.00 1 725.00 1 1 725.00 1		6" Valve box- No Valve	ΕĀ	-	00.000,	00.000,1	- -			00.000		1,600.00
tal or Total		Copport to Exist Motor Main	ì	- -	000.00	000.00	-		-	00.000		600.00
252,835.57 188,438.50 0.00		COMMEN TO EXIST WATER MAIN	2	-	725.00	725.00			-	725.00		725.00
252,835.57 188,438.50 0.00		+ 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1										-
		ondioral of 10	jai			252,835.57				188,438.50	00.0	188,438.50

Page 2 of 2

Box 417 - Colfax, Wisconsin 54730 - Phone 715-962-3311

Scott A. Gunnufson, President Lynn M. Niggemann, Administrator-Clerk-Treasurer

APPLICATION FOR VARIANCE FROM THE ZONING CODE

Date: 6/11/2019
Name:ANDERSON BRIDGES LLC
Address: 111 Willow Street, Colfax, WI 54730
Phone: 715-210-6920
PROPERTY OWNER IF DIFFERENT THAN ABOVE:
Location of property for which you are requesting a variance (attach Map): 111 Willow Street, Colfax, WI 54730
EXACT LEGAL DESCRIPTION OF PROPERTY:
PT. NW SW LOT 8 CMP 3258 STATE ASSESSED
CURRENT ZONING: Industrial
PROPOSED VARIANCE: Bremer Ave. driveway – increase the width to vs. ordinance width of 30' Cureant is 55'
PROPOSED USE OF PROPERTY (ATTACH SITE PLAN):
Use of the property will remain the same. The Driveway is used for delivery of materials, such as long beams, etc. The increased
width of the driveway will allow delivery of materials to be easier.
John Applicant's Signature

NONREFUNDABLE FEE: \$25.00
RECEIPT#_ Cと 年 (23.1 6)
TO VILLAGE BOARD: 6/24/2019
TO PLAN COMMISSION: NA
PUBLICATION DATES: NA

ACCT

1

POOLED CHECKING ACCOUNT

Accounting Checks

Posted From: 7/08/2019 From Account:

Thru: 7/21/2019 Thru Account:

Check Nbr	Check Date	Payee	Amount
75718	7/15/2019	ADAM'S AUTO REPAIR	32.50
75719	7/15/2019	ASPEN MILLS	227.80
75720	7/15/2019	CARLTON DEWITT	1,347.41
75721	7/15/2019	COMMERCIAL TESTING LAB	356.25
75722	7/15/2019	DIGGERS HOTLINE	22.40
75723	7/15/2019	DUNN COUNTY HUMANE SOCIETY	526.87
75724	7/15/2019	DUNN COUNTY RECYCLING	1,447.55
75725	7/15/2019	DUNN ENERGY COOPERATIVE	100.00
75726	7/15/2019	E.O. JOHNSON	90.67
75727	7/15/2019	EXPRESS MART	662.74
75728	7/15/2019	GALLS, LLC	156.40
75729	7/15/2019	GEORGE ENTZMINGER	100.00
75730	7/15/2019	GRAINGER	69.49
75731	7/15/2019	HAWKINS, INC.	1,806.13
75732	7/15/2019	HENRY SCHEIN	110.63
75733	7/15/2019	HUEBSCH	130.98
75734	7/15/2019	INDUSTRIAL SAFETY	43.90
75735	7/15/2019	JOLENE ALBRICHT	31.00
75736	7/15/2019	KYLES MARKET	24.67
75737	7/15/2019	LBR ELECTRIC	598.61
75738	7/15/2019	LISA BRAGG-HURLBURT	22.40
75739	7/15/2019	MEDPRO MIDWEST GROUP	224.60
75740	7/15/2019	MISSISSIPPI WELDERS SUPPLY CO.	34.20
75741	7/15/2019	MP CLOUD TECHNOLOGIES	499.00
75742	7/15/2019	OIUM ASPHALT PAVING CO	22,825.00
75743	7/15/2019	ONE SOURCE IMAGING	646.40
75744	7/15/2019	SYNERGY COOPERATIVE	1,274.13
75745	7/15/2019	VIKING DISPOSAL, INC	120.00
75746	7/15/2019	VILLAGE OF COLFAX	574.46
75747	7/15/2019	WATER CARE SERVICES	31.50
75748	7/15/2019	WELD RILEY	652.00
75749	7/15/2019	WELD RILEY	223.00
75750	7/15/2019	ZEMPEL APPRAISAL SERVICE	850.00

7/19/2019 12:01 PM

Reprint Check Register - Quick Report - ALL

Page:

ACCT

2

POOLED CHECKING ACCOUNT

Accounting Checks

Posted From:

7/08/2019

From Account:

Thru:

7/21/2019

Thru Account:

Check Nbr	Check Date	Payee		Amount
EFTPS	7/11/2019	EFTPS-FEDERAL-SS-MEDICARE		5,828.90
WIDOR	7/11/2019	WI DEPARTMENT OF REVENUE		1,078.73
AMAZON	7/17/2019	AMAZON.COM		1,651.12
BREMER	7/11/2019	CARDMEMBER SERVICE		760.05
CHARTER	7/21/2019	CHARTER COMMUNICATIONS		548.12
WIDCOMP	7/11/2019	WISCONSIN DEFERRED COMPENSATION		185.00
WEENERGIES	7/13/2019	WE ENERGIES		22.10
WEENERGIES	7/13/2019	WE ENERGIES		53.08
			Grand Total	45,989.79

COLFAX POLICE DEPARTMENT

PO BOX 417, 613 MAIN ST.

COLFAX, WI 54730

5

JUNE 2019	MONTHLY	POLICE	REPORT

CALLS FOR SERVICE: 67

TRAFFIC STOPS: 44

OWI ARREST: 1

•	ASSIS'	TOTHER AGENCY:
	0	Alarm in Elk Mound
	0	Injured deer
	0	Assist with OWI
	0	Car fire

o Water rescue

- AMBULANCE ASSIST: 1
- 911 MISDIAL/HANGUP: 3
- THEFT: 1
 - o Theft of door
- SUSPICION: 5
 - o Late night vehicle in parking lot x 2
 - o Suspicious noise in area
 - o Loud arguing heard
 - o Vehicle was 'egged'
- LOST/FOUND: 1
 o Wallet found at fairgrounds
- CIVIL: 1
 - o Roommate disagreement

• JUVENILE:

2

3

- o Curfew violation
- o Student brought weapon to school
- TRAFFIC COMPLAINTS:
 - o Erratic driver
 - o Parking complaints x 2